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Answers

I. D 18. D
3. € 19. A
3. B 2. D
4. C 21. C
5. D 23, - ©
6. E 23. D
7. C 24. C
8. A 25. D
9. A 26. E
10. D 77. €
il. € 28. B
12. B
13. E
14. B
15. E
16. D
17. E

1. (a) = 0.902 sec
dx

®) x=5,y=12, t=0.247, 5—18827ﬁ/sec

2.(a) g'(0)=1 (b) g'(1) > 0=> g is increasing

3.0 2 21 _!)‘ (2 - cos8)*d@

(b) dx/d@ = -2sin@ +2(cosB)(sinb)
dy/ d6 = 2cosB — cos’+sin’@

© dy _ 2cos6 - c0s20 + sinZ0
dx  —2sinB + 2(cosB)(sinb)
2 4 n_2n
X x -D)"x
4. (@ allx (b) 1-Zr—-"r=+ o
1=cosx jf xw0

() g'(x)=cosx, f(x)= { %

1/2 if x=0
(d) g(x) =sinx+3

5

5. (a) —72'— (b)x+y—4

1
) J
0

4(t+l)3 (r+1)

6. (a) P(t)=1200 —900e™"

In(2/3) 3
—3 Iny

(b) k=~ -1
(¢) limP(£)=1200

EXAM I Section II Part A

(c)g"(0)~7 (d) g"(1) > 0 = g - graphconcave up

EXAM I Section II Part B

dt (d)y—l-x ,0<xsl

Wmw>mp > o000
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ection II Part A

1. (a) v(t) = 1-t(cost) = (Int)(sin t)
(b) max|v(t) = 5.896 when t =6.700
(c)5.204 <t<7.987 (d)21.461

2. (a) decreasing at 0.0375 ft per ft
(b) 27772 cuft (c)w=1.1551t, h=1633ft

EXAM II Section II Part — EXAMI Section Il PartB |

(1.8
3.(@ 2+In3 (b) 4:rk\1+6)

2
(c) n}[x +£+2] -[x+2]‘2 dx
] x
4.(a -3 @®4 (c) 33

5.0) ) (;‘ 1) T —

@©x>7 @y=0

6. (@ f'(0)=1f"(0)=-1 /"(0)=2

x2 x3 4 ( I)n+l n

(b) x-——-+T 2 —
(c) 1

A
4

n




E EXAM 111
— Part A Part
. (o] 18. D | 1.
2. C 19. D 2
3. C 200 C 3.
& D 21. < 4,
S. D 2. D 5.
6. E 23, C 6.
7. E 24. B 7
8. C 25. € 8.
9 C 26. D 9.
10. C 27. D 10.
11. E 28. A 11.
12. E 12:
13. C 13.
14. A 14.
15. E 15.
l16. D 16.
17. E 17,
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. EXAMTII Section Il Part A
1. (@) =3.75

(b) y~2.6 = -3.75(x—1.4)
(o) f"0.4)>0
(d) .04[f(1.2) + £(1.6)] = 2.2

2. (a) (\/—2—$ l)’ (_ﬁs—l)
(b) product of slopes = -1 (c) 1.737

EXAM III Section II Part B

- (@ 10 (b)x=-3,1,3
(©) (-6,—4)and(1,3)
(d) H'@)=f'[3]5=2-5=10

. (a) diverges (b) -%sx < %

5. (a) v(t)=‘/—;t_%_]—+3 (b) 1.5

(©) s(t)=-6~2+1+3t+15 (d) 3
6. (a) h(-x)=h(x) (b) —V5=sx=+/5
(©) =12 (d) =2

’

EXAM 1V
Part A B
1. D 18. B D
2 B 19. D D
3 € 20. E C
4. B 21. D C
S, D 22. E €
6. C 23. A A
7. (8 24, B C
8. E 25. B E
9. D 26. D B
10. D 27, D C
I'l: € 28. B D
12. D D
13. B C
14. C C
15. E B
16. B D
17. C D

EXAM IV Section II Part A

. (a) relminat x =-0.364 and x =1.977

. (a) %cott () 2x-3y+5+6J2=0

rel max at x = 0.487
(b) -0.364 < x < 0.487 and x >1.977

(€)0.043<x<1.092  (d) 1.097 units

(c) 3.757
EXAM IV Section II Part B

. (a) 0.4 f / sec?

@) a2y

. (@ 1.5 (b) 2<x<25

(b) 1300 feet

(c) Car A is traveling faster

& x6 x4 xzn

FTIME TR TR
(b) converges for all x (radiusis infinite)

®) (=3 -2’—0)2

(c) 40 min

(c) G(3)>0 and G(4) <0 so by the
Intermediate Value Theorem, G has a zero
in[3,4). G'(x)<0on[3,4], soGis
monotone, decreasing and has only one
zero in [3,4].

(d) y-15=-1(x-3)
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Answers
EXAM VI

Part A [ Part B IP Part A ?5
8. B 1. D . A B
19. B 2. B 2. E -
20. B 3. B 3. B 5
21. D 4. E 4. E %
22. E 5. B 5. E o
23. B 6. B 6. D £

24. D 7. C T B
25. B 8. E 8. C D
26. A 9. A 9. D B
27. DI 10. A . A D
2. E || 11. D C B
12. E C A
13. D B B
14. D D B
15. A B C
16. B A D
17. D D D

EXAM V Section II Part A

EXAM VI Section II Part A

1. (a) 6(1268 + 1316 + 1369 + 1451) = 32,424 K
(b) (%—Eﬁ) = 8.833 K/hr?

1. (@) y-e?=e“x-a) R=(a-1,0) (b) A-—;—ea|a-l|

(c) Areamax whena =0. A'(0) = 0and A”(0)< 0
A(-1) = 0.368, A(0) = 0.5, A(1) =0

© o Jo ! (124541012595 ) 4t = 1364.478 K / hr

2. (a) g(1/2) = 0210 (b) g'(0) =0.540
(c) x =0.903 (d) x=2290 orx =3.676
(e) 0269

2. R, =Y (I-Ax,‘-“lx

)(x‘)z Whenn=4,Ax=1,x, =0
k=1

k

Ry= (L11)0) +(11:3) (1% + (11D (2 +1-D) 3)2= 8

2

(b) lim 2 (l Axy- ™ ] )(xk) = lim 2( ) -.z‘lj_—xdx

n—sc n=+® ;2 l+X‘

(©) f — dx = 5.609 grams

EXAM YV Section Il Part B

EXAM VI Section 11 Part B
3. ¢ —l d) y-—\fxz—Zx +4.

4. () x(1) =t+1 ; y(0) = (b)Y'l-xl—z

3.() L) =3(x-2)+Lx-2%+ Fx-1°

(b) Interval of convergence is all x for which —1s x < 5.

dy 2x 4
4. (a) == b) y-0==—(x-2
ax —2—3y 295 (b) ¥ 5( )

(c) vertical x==1, or = ’22;873 horizontal x =0

(e) larger
5. (@) x=10 (b) S<x<125 i

(¢) critical points (10, 60) and (15, 47.5)
inflection points (5, 35) and (12.5, 53.75)

2
(c) At(0,1), Z— =4 (d) y(0.5)~0.5

1 2 4 = n y2n
6.(a) E—T_G"' fﬁ"' - zo(_l) 2§n+2 (b)R =2

2
6. (b) ly|=2¢*"* (c) y=2e
(d) y=3;exact: y(2) = 5.437

§ n x2n+|
a0 (2n+1)22n42

(d) Letx=2




